NOVEMBER/DECEMBER 2019

BPH51 — OPTICS

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer ALL questions.

Each questions carries equal marks.
How will you minimize spherical aberration using
stops?
shuysmery LwaLRsS Gerarts Wppsflew Bedi
GreueU) GenmLILITII?
Mention any two differences between the
construction of Ramsden and Huygen’s eyepicces.

FrbauGlLer whmib enanblmer sarammE olleneasaf e
sLL WU s@EpsH e G gCaand Erer®
Asdursnisamers @ik @ s.

Why is a compensator used in Jamin's
interferometer?

ardlar Gn&SL6 olmarewraiules FHQsLS o
Lwe(HésIuUBEnE ?
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13.

14,

15.

(a)

(b)

(a)

(a)

Deduce an expression for the resolving power
of a microscope.

(M Bl Ganrmas il ull e N menideran
Garenauenig s(mer.
Or

Write a note on overlapping of spectral lines.
Gpblumrmpbs)b
@OLGELpE 5.

Bpwreney euflgdr  Lnd

Explain the Huygens theory of double
refraction in uniaxial crystals.

QUEs Ugsnsele @Qrioml. gaflelawsEpssren
snanmer GlEmareanganiL 6llaTe@s.
Or

Describe the method of producing and
detecting elliptically polarised light.

Hereu L garallenaraymn gafluianens Corbmiedsed
LHid saTL_dlge (penmsaner alleu],

Explain  the working of fibre optic
communication system using block diagram.

afliflued @enp Gsriy el Qsueme

- sLLuuLgansl el (s eflerd@e.

Or
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16.

18.

(b) Obtain an expressicn for the acceptance

angle of an opti=al fibre.
el Qepudar  gpy  Ceramsdhsmen
Careneuenwi s Gl e
SECTION C — 3 » 1C = 30 marks)
Answer any THREE quest ons.

Each questions carries equal marks.
Describe the conssriction and working of
Huygen's eyepieze. Cbtzin -ts cardinal points.
manblmean samamE dloamadear slLambliL) wHpb
Gewee efleufl. igaflst arrsne Lsraflsmer Qus.
Describe the conszruction and working of
Michelson’s inte *fercmeter.
@wssvFar GnEeS. A oralilsar & Lawbly  bHpb
Clawea alfleufl.
Give the theory of plane transmission grating.
sgert gaflL@b Enpert w9k Qarearaeam s &ms,
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10.

What axe Brewster’s fringes'?'

Umev L euflgeT erestmmed erammen?

What is Fraunhofer diffraction?

sourmenGamme L eSleflibLjefenere, erammmed eremen?

Calculate the aperture of the objective of a
telescope which may be used to resolve stars
separated by 6.1 x 10° radians for light of wavelength
589.6 nm.

589.6 nm yeaberd Qarar.. gpafl LweTLBSSILGLD
Curg) @\m pLesdriisamer 9M&e@b Ggrenaey 6.1 x 106
erafldd, CgrenaCpradluler sememhE 6l eamauier
glenemullenaurd: semradl (D).

What is called Kerr effect?

Qs eflenere eraimireh erevan?

Define optical activity.
gafluwe eflener — cueniLig.

Write the principle involved optical fibre.
gafludwed @enpuids sbubsILL Harer Csraransemi
Gl'@g]&
What do you understand by optical power loss in
an optical fibre?
gafifud @il eafllued Hper @uiin upd Fali
Yibgl Carenr_g) erane?

2 i 3621



" 19

20.

Describe the coassruetion and working of a
Laurent's nalf shade polarimeter.

onparg gy s Eurorfloraiuier &L el
wHmb CFusma aflsifl.

Discuss the absorption and scattering losses in
optical fibre.

galllue @ewlfe o s wHgL ealflsnead
@ty upal eleurd.

(SF]

35621

11.

12.

(a)

(b)

(a)

(b)

SECTION B — (5 x 5 = 25 marks)
- Answer ALL questions.
Each questions carries equal marks.

Describe the working of constant deviation -
spectrometer.

wror efess Fpwraewralufenr Qewuamea efeufl.

Or

Explain longitudinal and lateral chromatic
aberrations.

fereur@  wHmb  GoEE  Hou9ppidsamer
elllaTé(5s.

Describe an experiment to measure the
diameter of a thin wire.
R Clodelu sbluflar 6L ms SieTliLgheTea
(5 Gerganarend alleui.

Or

Explain the working of a Rayleigh
interferometer with suitable diagram.

prde GnsS Gurefler Qewame Gummsgswomar
UL &gl e lemd@s.
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